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Section : Part-A-General Awareness

Q.1 According to Niti Aayog's Multidimensional Poverty Index (MPI) 2021, which state of
India has the lowest percentage of population below poverty line?

Ans X 1.Goa
25 2. Tamil Nadu
" 3. Kerala
5 4. Punjab

Question ID : 26433081922
Status : Answered
Chosen Option : 3

Q.2 Which of the following statements is NOT true about Stupa?
Ans X 1.t means ‘mound’, whether round and tall, big and small

25 2. This may contain things used by the Buddha or his followers
#< 3. This may contain bodily remains of the Buddha or his followers

+«" 4. Itis a holy place related with Jainism

Question ID : 26433054226
Status : Answered
Chosen Option : 4

Q.3 Which training platform developed in 2018 by trauma surgeon Dr. Alex Young provided
remote educational programmes around the world skills like the right way to wear
personal protective equipment, administer treatment or ventilate a patient during
COVID-19?

Ans 1. VIRTI
X 2. DOCEBO
< 3.CARM
5 4. 360 learning

Question ID : 26433098833
Status : Answered
Chosen Option : 4



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

1II33#® Prime

ALL EXAMS, ONE SUBSCRIPTION

h d
@
1,000,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ 25,000+ Previous
Exam Covered Year Papers

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Addal247 Eooale Play

Q4 YR TR &1 B A1 e FRER BT 7u ar favraa # fore 7o aafdaat &) T
W FT 872

Ans X 1. 3G 21
o 2. 3G 22
X 3. 3J®™q 23
X 4. 3J®¢ 20

Question ID : 26433064706
Status : Answered
Chosen Option : 1

Q5 fafafad # ¥ fFa URdT IR T B TeTe & 9§ SE1 ST 872
Ans X 1. HUD

X 2. By

X 3. 7fogd

o 4. WA

Question ID : 26433072625
Status : Answered
Chosen Option : 3

Q.6 Which of the following leaders declared the creation of the People's Republic of China
(PRC) in 19497

Ans  # 1. Mao Zedong
< 2. Yang Shangkun
& 3. Liu Shaoqi
25 4. Xi Jinping

Question ID : 26433098487
Status : Answered
Chosen Option : 2

Q7 ?ﬁﬁﬁﬂﬁﬁﬁﬁ'ﬁ%mg@mmﬁzozz T W Ay gerE & = § g1 I
?

Ans X 1. 3Rfdg FHoRiard
o 2. 741 YIS
X 3. FHAT SFS
X 4. ey

Question ID : 26433074172
Status : Answered
Chosen Option : 1

Q.8 What is a transfer income?
Ans X 1.Earned income

& 2. Public income
#< 3. Disposable income

4" 4. Unearned income

Question ID : 26433054582
Status : Answered
Chosen Option : 4



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.9 Which of the following two rivers make ‘estuaries’?
a) Narmada
b) Krishna
c) Cauvery
d) Tapi

Ans X 1.b-c
o 2.d-a
X 3.c-d
X 4da-b

Question ID : 26433066595
Status : Answered
Chosen Option : 4

Q.10 yfty Iz AT (HRa H) BRI 3R fbu & 1
Ans o2 1. YTor faHmT

X 2.8 HATT™

X 3. N faurT

> 4. oo fae e

Question ID : 26433069783
Status : Answered
Chosen Option : 1

Q.11 Which of the following is NOT a part of the Green Revolution?
Ans X 1. Use of chemical fertilisers

+" 2. Abolition of intermediaries
5 3. Use of multiple cropping

#5 4. Mechanised means of cultivation

Question ID : 26433054635
Status : Answered
Chosen Option : 2

Q.12 The National population register was created under the provision of and

a) Citizen Act 1965

b) Citizenship Rules 2004
c) Citizenship Act 1955
d) Citizenship Rules 2003

Ans X 1.a-b
X 2a-c
" 3.c-d
X 4.b-d

Question ID : 26433066596
Status : Answered
Chosen Option : 2
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Q.13 From which of the following countries the Asia Cup 2022 was shifted out to the United
Arab Emirates?

Ans X 1.India

" 2. SriLanka
#< 3. Bangladesh
75 4. Pakistan

Question ID : 26433098491
Status : Answered
Chosen Option : 2

Q.14 Which of the following is a religious festival?
Ans 1. Gangaur

X 2. Children’s Day
5 3. Camel Festival
#% 4. Teachers’ Day

Question ID : 26433054221
Status : Answered
Chosen Option : 1

Q.15 Tq WPR IAGH 3P1341 Bl WHR gRT Feifea w0 Fhual W v Iamg e & g
e weTaar 3 2, 9 59 T PET A1 22

Ans X 1. FRAEFS
X 2. gaH gAd gey
o 3. il
XK 4.3

Question ID : 26433054584
Status : Answered
Chosen Option : 3

Q.16 In the month of September 2022, the Prime Minister of which of the following countries
visited the dargah of Khwaja Moinuddin Chisti at Ajmer?

Ans X 1. Egypt
" 2. Bangladesh

& 3. Turkey
< 4. Pakistan

Question ID : 26433098481
Status : Answered
Chosen Option : 1

Q.17 which state celebrated the 44" Kokborok Day?
Ans 1. Tripura

25 2. Nagaland
25 3. Mizoram
X 4. Assam

Question ID : 26433079532
Status : Answered
Chosen Option : 1
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X 1. dideR
X 2. BTl 3ER
o 3. HaRar
X 4. aifery

Ans

Question ID : 26433098840
Status : Answered
Chosen Option : 3

Q.19 Which is the first tomb of the Mughal period to have two domes?
Ans X 1. Akbar Tomb

& 2. Jahangir Tomb
" 3. Humayun Tomb
& 4. Babur Tomb

Question ID : 26433064398
Status : Answered
Chosen Option : 3

Q.20 T FHIT Y= F dgd "TBRI A1 YT A2

o 1. I8 TIHECRI R IR gHISTl B Wipd BT AR & SUHRUN P I [ERWd TR
B! TR T@ & for foriaR grar Tl

X 2. 395 U 37 gt Uet 3R YR & 1Rl BT HRY 3TR aoiive] fadid o3 &1
SR SHIYBR |

X 3. 98 T FRIGRY SR} Fin o <t et oM & forw 9+t veR &t axgaff ot wlie oiik
% YR & farw RdER o)

X 4. 98 oG IR fad & forg iR g o1 oiR 3¥a! Urifiies ddied RMTel ToiA &
AR ST SR et Tl ) 51 AT T

Ans

Question ID : 26433098850
Status : Answered
Chosen Option : 4

Section : Part-B-General Science

Q.1 is the fraction 1/273.16 of the thermodynamic dynamic temperature of the triple
point of water.
Ans o 1. Kelvin
X 2. Celsius

#< 3. Fahrenheit
& 4. Candela

Question ID : 26433098682
Status : Answered
Chosen Option : 1
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Q.2 Which of the following metal is in liquid state at room temperature?

Ans 1. Mercury

25 2. Potassium

2 3. 1Iron
& 4. Calcium

Question ID : 26433098610
Status : Answered
Chosen Option : 2

Q.3 Spontaneous processes of nature are
Ans X 1.Reversible

" 2. Irreversible
#5 3. System and surrounding returns to original state.

& 4. Always slow

Question ID : 26433098635
Status : Answered
Chosen Option : 1

Q.4 Why does group 15 elements have greater ionization enthalpy than group 16
elements?

Ans X 1. All of the above
+«" 2. They have extra stable half-filled p orbital
& 3. Greater nuclear attraction

25 4. They are smaller in size

Question ID : 26433098629
Status : Answered
Chosen Option : 1

Q.5 Which of the following is arranged in decreasing order of ionic mobility?
Ans X' 1T SBr —>c > F

K 2.F -Cl—>I”—Br

o 3. F5cl B I

K4 F 1" —c —-Br

Question ID : 26433098611
Status : Answered
Chosen Option : 2

Q.6 Which of the following ferromagnetic materials has the highest Curie Temperature?

Ans 1. Cobalt
25 2. Gadolinium

2 3.1Iron
& 4. Nickel

Question ID : 26433098582
Status : Answered
Chosen Option : 2
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Q.7 In which year Ohm’s law was discovered?

Ans o 1.1828
X 2.1838
X 3. 1858
X 4.1848

Question ID : 26433098684
Status : Answered
Chosen Option : 2

Q.8 Which of the following electrolytes are known as 1-1, 2-1 and 2-2 electrolytes
respectively?
Ans # 1. NaCl, CaCl, and MgSOy4

/< 2. CaCl, NaCl and MgSOy4
& 3.MgSO, NaCl and CaCl,
#% 4. CaCl, MgSO,4 and NaCl

Question ID : 26433098569
Status : Answered
Chosen Option : 1

Q.9 Dimension of mass density is
Ans X 1. MOLT

X 2. MO8 TY

o 3. [ML3 T

X4 MLT?

Question ID : 26433098596
Status : Answered
Chosen Option : 4

Q.10 Identify the CORRECT statement about system of units.
Ans X 1. The CGS units have well defined and internationally accepted unit symbols (such as
m for metre, kg for kilogram, s for second, A for ampere, N for newton etc.).
#< 2. Certain fundamental units are expressed by means of Sl units with special names
(such as joule, newton, watt, etc).
#< 3. The MKS based on seven base units is at present internationally accepted unit
system and is widely used throughout the world.
«# 4. Scientific notation and the prefixes are used to simplify measurement notation and
numerical computation, giving indication to the precision of the numbers.

Question ID : 26433098707
Status : Answered
Chosen Option : 3

Q.11 Which of the following is used in controlling depression and hypertension?
Ans X 1. Meprobamate.

" 2. Equanil.
& 3. Chlordiazepoxide.
. 4. Noradrenaline.

Question ID : 26433098562
Status : Answered
Chosen Option : 3
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Q.12 If net external force on a body is zero than

Ans X 1. Its velocity is non zero (according to first law of motion)
5 2. Its acceleration is non zero (according to 3rd law of motion)
+" 3. Its acceleration is zero (according to first law of motion)

& 4. Its velocity will be zero ( according to second law of motion)

Question ID : 26433098660
Status : Answered
Chosen Option : 4

Q.13 The location of the north magnetic pole of earth’s magnet is at a latitude of 79.74° N
and a longitude of 71.8° W, a place somewhere in north

Ans X 1. Australia
& 2. Antarctica
" 3. Canada
#5 4. New Zealand

Question ID : 26433098534
Status : Answered
Chosen Option : 1

Q.14 Metals have low resistivities in the range of

Ans X 1.10° Omto 1073 Qm
o 2.108 Omto 107% Om
2 3.10% Qm to 10% Om
2 4.108 m to 10% Om

Question ID : 26433098532
Status : Answered
Chosen Option : 1

Q.15 Which of the following statement is NOT related to Zeroth Law of Thermodynamics?

Ans X 1. This Law clearly suggests that when two systems A and B, are in thermal equilibrium,
there must be a physical quantity that has the same value for both.

25 2. This law was formulated in 1931.
#5 3. R.H. Fowler formulated this law.

«" 4. This law states that ‘two systems in chemical equilibrium with a third system
separately are in thermal equilibrium with each other’.

Question ID : 26433098700
Status : Answered
Chosen Option : 3

Q.16 Which of the following additives has nutritive value?
Ans X 1. Flour improvers

X 2. Fat emulsifiers
" 3. Nutritional supplements

25 4. Food colours

Question ID : 26433098713
Status : Answered
Chosen Option : 1
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Q.17

J kg™'is the unit of .
Ans o 1. Gravitational Potential

X 2. Gravitational constant
5 3. Gravitational Potential Energy

#5 4. Gravitational Intensity

Question ID : 26433098552
Status : Answered
Chosen Option : 3

Q.18 Which of the following artificial sweetener’s appearance and taste are like sugar?
Ans o 1. Sucralose

< 2. Alitame
& 3. Saccharin
< 4. Aspartame

Question ID : 26433098518
Status : Answered
Chosen Option : 1

Q.19 Which of the following is a potent vasodilator?
Ans X 1.Ranitidine

#5 2. Cimetidine
¥ 3. Histamine
25 4. Noradrenaline

Question ID : 26433098585
Status : Answered
Chosen Option : 3

Q.20 fgfafad & Q S I HYT Ted 872
Ans X 1. 90 ¥ed T @ fa=m H e gt 71

X 2. P gag W e iR @ o 99 39 90y fiis & v ot fRufa @ feffea grar
gl
X 3. faF fgfa e o, F=magarsl

o 4. TG 3R T BT [UHEGT AT T & o Rl H GRad- & RTeR gl g

Question ID : 26433098529
Status : Answered
Chosen Option : 4

Q.21 What is value of G in F =G m4 my/r,
Ans X 1.6672x107""N

o 2.6.672 x10"1T N m? kg2

7 3.6.672x107"" N kg2

X 4.6.672 %1071 N m?

Question ID : 26433098679
Status : Answered
Chosen Option : 2
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Q.22 Which of the following elements is NOT present in Alnico?
Ans 4 1.Bismuth

#< 2. Nickel

& 3. Copper
< 4. Cobalt

Question ID : 26433098581
Status : Answered
Chosen Option : 2

Q.23 An astronaut accidentally gets separated out of his small spaceship accelerating in
inter stellar space at a constant rate of 100 m s-2. The acceleration of the astronaut the
instant after he is outside the spaceship is Zero. This is in accordance with

Ans X 1.Law of conservation of linear momentum
#< 2. Newton’s second law of motion
< 3. Newton’s third law of motion

«" 4. Newton’s first law of motion

Question ID : 26433098677
Status : Answered
Chosen Option : 1

Q.24 Which of the following statements is INCORRECT? The conductivity of electrolytic
(ionic) solutions depends on:

Ans X 1. concentration of the electrolyte.
+ 2. the nature of the solute and its viscosity
& 3. The nature of the electrolyte added.

5 4. Size of the ions produced and their solvation

Question ID : 26433098545
Status : Answered
Chosen Option : 2

Q.25 The representation of rate of reaction in terms of concentration of the reactants is
known as

Ans X 1. Stoichiometric coefficient
" 2. Rate expression
25 3. Order of reaction
< 4. Randomness

Question ID : 26433098653
Status : Answered
Chosen Option : 3

Section : Part-C-Mathematics

Q.1 A vendor mixes two types of pulses costing ¥10/kg and ¥22/kg respectively. In what
ratio ¥10/kg should be mixed with ¥22/kg to get a mixture of ¥12/kg.

Ans X 1.10:1
X 21:5
o 3.5:1
X 4.1:10

Question ID : 26433081547
Status : Answered
Chosen Option : 3
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Q.2 If 2 men or 4 women or 6 boys can finish a work in 50 days, then how many days will 1
man, 1 woman and 1 boy take to finish the same work?

5]
vt 54; days

Ans
X2 54> days
11

X 3. 53> days
11

X 4. 54— days
i3

Question ID : 26433065101
Status : Answered
Chosen Option : 1

Q.3 P, Q, R and S are four points on a circle. PR and QS intersect at a point X such that £QXR = 120° and <XRS = 10°,
Q P Q P

The measure of 2£QPR iz

Ans X 1.100°
o 2. 110°
X 3.120°
X 4.90°

Question ID : 26433075022
Status : Answered
Chosen Option : 2

Q.4 A man spent 20% of his monthly income on rent and 45% of the remaining on clothes
and he saves the remaining income. If his monthly savings are Rs.308, find his
monthly salary.

Ans 1. Rs.700
< 2.Rs.725
X 3.Rs.775
< 4.Rs.750

Question ID : 26433063856
Status : Answered
Chosen Option : 1

Q.5 [f the area of a square is 16x2 + 16x + 4, what is the perimeter of the square?
Ans X 1.2x+4

X 2.16 + 8x
X 3.4x+2
o 4.16x+8

Question ID : 26433061338
Status : Answered
Chosen Option : 3
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Q.6 2 tables and 3 chairs together cost 212000. When the cost of a table is decreased by 10 %4 and that of a chair is increased
by 20 %0, then 3 fables and 4 chairs together cost 217100. What is the total original cost of 1 table and 2 chairs?

Ans X 1. Z6500
X 2. 26300
# 3. 26800
4 26600

Question ID : 26433098454
Status : Answered
Chosen Option : 1

Q.7 A cubic metre of copper weighing 15,000 kg is rolled into a square bar 4 m long. An
exact cube is cut off from the bar. How much does the cube weigh?

Ans X 1.1900 kg
& 2. 1875 kg
X 3.1975 kg
< 4.2850 kg

Question ID : 26433061293
Status : Answered
Chosen Option : 1

Q.8 The following table shows the marks (in percentages) obtained by six students in five different subjects in an examination.

The maxinnun marks in each subject are 100,

Student SUBJECT
€5 |PHYSICS | CHEMISTRY | MATHS | HISTORY | GEOGRAPHY
A 93 63 90 70 70 80
B a0 70 75 75 85 £S5
4 80 30 a5 70 a0 a5
D B3 90 85 15 a0 95
E 20 05 a5 &5 90 05
K an 90 a0 95 a0 a0

Answer the following question based on the table:
What are the average marks obtained by all the six students in CS7 (up to two decimal places)

Ans X 1.83.33
X 2.8167
X 3.84.76
o 4.86.67

Question ID : 26433074465
Status : Answered
Chosen Option : 4

Q.9 Mohan starts a business with a capital of 1,70,000. He incurs a loss of 4% during the
first year. But he makes a profit of 5% during the second year on his remaining
investment. Finally, he makes a profit of 25% on his new capital during the third year.
Find his total profit at the end of three years.

Ans 1 344,200
X 2.343,200
X 3.345,200
X 4.342,200

Question ID : 26433063420
Status : Answered
Chosen Option : 3
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Ans X1 58
X2 50
X3 52
4 b4

Question ID : 26433098438
Status : Answered
Chosen Option : 1

Q.11 I Fd fIhdl 81 TP AT ] 98 U fPaIuTH 3HFG 20% BT W 3R T foraumd
3T 40% TTH TR ST § 3R SH Rs.44 HT ATH gidT 3| GO TS Bl a8 TS [harums
3TH 3R TP fha I 3ATE U 20% WTH U 99T @ 3R Rs.40 BT a1 3ifofd Sar 2|
u%ags%%wﬁummﬁvsﬁwﬁmmuﬁwahmmuwm%ﬁmﬁ
ATH T 82

Ans X 1.Rs412
X 2.Rs.421
X 3.Rs.325
o 4. Rs.352

Question ID : 26433061304
Status : Answered
Chosen Option : 4

Q.12 The marked price of a water bottle is Rs.950. A man bought the same for Rs.740, after
getting two successive discounts. If the first discount is 12% , then what is the second
discount?

Ans X 1.12.48%
o 2.11.48%
< 3.13.45%
< 4.14.56%

Question ID : 26433063783
Status : Answered
Chosen Option : 2

Q.13 Two circles of radii 13 cm and 12 cm are concentric. Calculate the length of the chord
of the outer circle which touches the inner.

Ans X 1.9cm
X 2.8cm
X 3.5¢cm
o 4.10cm

Question ID : 26433066391
Status : Answered
Chosen Option : 3
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Q.14 During the first two hours of a journey, a man drove at the speed of 45 km/h and during
next two hours and fifteen minutes he drove at a speed of 72 km/h. He maintained a
speed of 80 km/h for another three hours and 45 minutes. What was his average speed
(in km/h) for the entire journey?

Ans 4 1.69

X 2.70

X 3.66

X 4.75

Question ID : 26433063236
Status : Answered
Chosen Option : 1

Q.15

A
When 0.234343434... is expressed in the form of 5 {lowest terms), then the value of B — A is:

Ans X 1.378
X 2.376
o 3.379
X 4.377

Question ID : 26433082356
Status : Answered
Chosen Option : 1

Q.16 Usingall the letters K. M, A, G and A, 5 letter words are made (with or without meaning). If these words are arranged as
in a dictionary, the word NAAKG will appear at what place?

Ans 1. 50
X2 49
X3 47
X4 46

Question ID : 26433098452
Status : Answered
Chosen Option : 2

Q.17 If cot® + cosecO = 5, 6 being an acute angle, then the value of 13cos® is:
Ans X 1.156

X 2.25
X 3.13
& 412

Question ID : 26433075028
Status : Answered
Chosen Option : 1

Q.18 A sum of money at simple interest doubles itself in 8 years. What is the rate of
interest?

Ans 7 1.125%
X 2.85%
% 3.95%
X 4.65%

Question ID : 26433075155
Status : Answered
Chosen Option : 1
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Q.19 If a chord of a circle of radius 11 cm is a tangent to another circle of radius 7 cm, both
the circles being concentric, then the length of the chord is:

Ans X 1.3V8cm

X 2.8VY3cm
X 3.6V8 cm
o 4.1242 cm

Question ID : 26433075402
Status : Answered
Chosen Option : 1

Q.20 80 men can construct a small footpath in 60 days. How many more men should be
employed if the job is to be finished in 20 days?

Ans  # 1.160
< 2.180
25 3.120
< 4.240

Question ID : 26433061900
Status : Answered
Chosen Option : 4

Q.21 The solution of the following system of equations:

2(ax—by) +a+4b=0, 2(bx + ay) + b—4a =0, is also the solution of the equation:
Ans X' 1. 3x—2y=35
2 dx+3v=4
X3 2x—-3y=6
X4 3x+4y=159

Question ID : 26433098465
Status : Answered
Chosen Option : 2

Q.22 12 Y%y UfAfe 6 U BT HXd §T TP P14 i 25 faAl § w2 wavd 71 afe us foan wan 3
oy, Aigarsil @t ga-m A A < €, @ 36 Afant ufafed 5 4 o @ gu 3¢t &1 Bt
fopam famt & sfto

Ans X 1.24

X225

o 3.20
X 4.23

Question ID : 26433063804
Status : Answered
Chosen Option : 3
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Q.23 Simplify the following expression.
54+73-48+12x%x23+3.2

Ans # 1.6.7
< 235
K376
K 4.53

Question ID : 26433080275
Status : Answered
Chosen Option : 2

Q.24 Inthe following figure, O is the centre of the circle. If OP = 5 cm and radius of the cirele is 3 em, find the length of the

rangent PT.

AN

A )

Ans X 1.6cm
" 2.4cm
2 3.3cm
X 4.5¢cm

Question ID : 26433061448
Status : Answered
Chosen Option : 1

Q.25 Find the surface area of a cube whose edge is 11 cm.
Ans X' 1.66 cm?

o 2. 726 cm?

X 3.121cm?

X 4.1 cm?

Question ID : 26433073145
Status : Answered
Chosen Option : 2

Section : Part-D-Reasoning

Q.1 Select the set in which the numbers are related in the same way as are the numbers of
the given sets.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /deleting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and
3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(114, 6, 19)
(78,13, 6)

Ans o 1.(375, 25, 15)
X 2.(81,10,9)
% 3.(42,3,7)
X 4.(343,14,7)

Question ID : 26433056506
Status : Answered
Chosen Option : 1
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Ans X 1.4
o 2. TS IS BT
X3T
X 4T

Question ID : 26433068448
Status : Answered
Chosen Option : 2

Q3 A#p FTAfe P A BHTURAE
A@B FAFEF A, BIITHR
A&B PTATRfF A BHIAETR
‘A%B BT AfEfF A, BIIAETR
K% N@P#R &, N KPTR Y T Y 82

Ans X 1 fOdr
X 2. 91T
o 3. TR
X 4.9

Question ID : 26433068579
Status : Answered
Chosen Option : 3

Q.4 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some cushions are sofas.
Some purses are cushions.
All sofas are purses.
Conclusions:

|. Some cushions are purses.
Il. Some purses are sofas.

1. Some sofas are cushions.

Ans X 1. Only conclusion Il follows
«# 2. All conclusions follow
& 3. Only conclusion lII follows

& 4. Only conclusion | follows

Question ID : 26433068542
Status : Answered
Chosen Option : 2

Q.5 Which two signs should be interchanged to make the given equation correct?
306 +17 +4-50 x 8 =30

Ans X 1.xand-
& 2.+ and x
" 3. +and x
&K 4. +and-

Question ID : 26433059947
Status : Answered
Chosen Option : 3
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Q.6 Study the given diagram carefully and answer the question. The numbers in
different sections indicate the number of persons who like to watch different types

of TV channels.
Movie
16
20
19 11 9
Sports
18
Cartoon

How many persons are there who like to watch both sports and cartoon
channels?

Ans X 1.9
o 2.20
X 3.1
X 4.19

Question ID : 26433070416
Status : Answered
Chosen Option : 2

Q.7 Which letter-cluster will replace the question mark (?) to complete the given series?
FCBZ, KGEB, ?, UOKF, ZSNH

Ans X 1.PLHD
& 2. PKGD
< 3.PLGD
o 4. PKHD

Question ID : 26433067956
Status : Answered
Chosen Option : 4

Q.8 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.
(31*3)*64*124*(492*78)*6

Ans X 1.- x = - - +

x2_+,+,—’=,—,x
¥4_x’—,:y—,+y+

Question ID : 26433057650
Status : Answered
Chosen Option : 1
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Q.9 Select the option that represents the correct order of the given words as they would
appear in an English dictionary.
1. Meconium
2. Medication
3. Mediocrity
4. Mechanical
5. Meclizine
6. Mecamylamine

Ans X 1.4,6,51,2,3

5 2.6,4,2,3,51
. 3.6,5,1,4,3,2
o 4.6,4,51,2,3

Question ID : 26433098358
Status : Answered
Chosen Option : 4

Q.10 Select the figure that will come in place of the question mark (?) in the following figure seriss.

NEV=N=Y

QQO0D0 | QOQOQ | DODOD | 0000

N

Ans

o —
00000
X 2 —\
00000
X 3. —\
0000
X 4. —\
0000

Question ID : 26433056956
Status : Answered
Chosen Option : 1

Q.11 There are five friends, Ankita, Parul, Ashna, Bhanu, Ritika. Ashna is the tallest. Ankita
is shorter than Parul but taller than Ritika. Bhanu is shorter than Parul but taller than
Ankita. Who is taller than Ritika but shorter than Bhanu?

Ans X 1.Ritka
X 2. Parul
" 3. Ankita
X 4.Bhanu

Question ID : 26433056548
Status : Answered
Chosen Option : 3
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Q.12 In a certain code language, ‘POSITIVE’ is written as ‘109’ and ‘NEGATIVE’ is written as
‘“141°. How will ‘INTEGER’ be written in that language?

Ans 4 1.118
< 2.107
<0311
K 4114

Question ID : 26433098342
Status : Answered
Chosen Option : 1

Q.13 Six friends L, M, N, O, P and Q are sitting around a circular table facing the centre. L is
sitting third to the left of O. M is sitting second to the right of O. N is sitting second to
the right of P. P is the only one sitting between Q and O. Who is sitting between M and

Q?

Ans 1. L
K20
X 3P
K 4N

Question ID : 26433055513
Status : Answered
Chosen Option : 1
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Q.14 Select the figure from among the given options that can replace the question mark (?) in the following series.

ARSI
L
o /
[V
A

Question ID : 26433056826
Status : Answered
Chosen Option : 2

Q15 1,2, 3,4, 5 and 6 are written on different faces of a dice. Three different positions of the

same dice are shown below. Find the number on the face opposite to the one showing 6.

figure 1 figure 2 figure 3

Ans 1.5
X 2.4
X 3.3
X 4.2

Question ID : 26433080721
Status : Answered
Chosen Option : 1



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

Q.16 Which of the following numbers will replace the question mark (?) in the given series?
90, 89, 85, 76, ?, 35

Ans X 1.65
X 2.51

o 3.60
X 4.72

Question ID : 26433056433
Status : Answered
Chosen Option : 3

Q.17 1, 2,3.4. 5 and 6 are written on differsnt faces of a dice. Three different positions of the same dice are shown below.
Find the number on the face opposite to the one showing *5°.

Ans X 1.3
K 2.1
3.2
X 4.4

Question ID : 26433080728
Status : Answered
Chosen Option : 3

Q.18 Seven people, A, B, C, D, E, F and G, are sitting in a straight row, facing the north. Only
two people sit to the right of D. Only two people sit to the left of C. Only two people sit
between D and G. Only three people sit between C and E. A is not an immediate
neighbour of D. B sits to the right of D. Who sits at the centre?

Ans X 1.D
o 2.F
X 3.C
X 4.B

Question ID : 26433055897
Status : Answered
Chosen Option : 2

Q.19 In a certain code language, 'RAID' is written as 'DIARS‘ and ‘SPOT’ is written as
‘TOPST’. How will ‘MOOT' be written in that language?

Ans X 1.MOOTT
X 2.MOOTN
X 3. TOOMM
o 4. TOOMN

Question ID : 26433056079
Status : Answered
Chosen Option : 4
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Q.20 Select the option that represents the letters that, when sequentially placed from left to
right in the blanks below, will complete the letter series.
m_r_t_c_mero_scu_ero_s_u

Ans X 1. eostumtc

#5 2. esotmtco
2 3. emtsotcc

" 4. eosutmtc

Question ID : 26433056252
Status : Answered
Chosen Option : 4

Section : Part-E- Computer Fundamentals

Q.1 Typically is used to send the email carbon copy to multiple recipients, except each recipient can't see who is on
the list of other recipients.

Ans x4 Ce
X 2. Subject

X 3. Add text
« 4. Bee

Question ID : 26433098366
Status : Answered
Chosen Option : 4

Q2 keyboard shortcut is used to cut the selected data in MS-Word 2010.
Ans X 1. Ctrl +V

2 Cirl + X

X3 Ctrl+0

X4 ctrl+Z

Question ID : 26433098402
Status : Answered
Chosen Option : 2

Q3 The  function in MS-Excel 2010 is used to find average or mean of numbers.
Ans 1. AVERAGE

X 2. MEAN

X 3. AVRG

X4 AVG

Question ID : 26433098391
Status : Answered
Chosen Option : 4
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Q4 | cHvE-wedE 2010 (MS-Excel 2010) #r adeie & 327 & veh Repaer Rusiene ¢
Ans X 1. ofre (Sheet)

X 2. el (Cell)

v 3. AR (Graph)

X 4 gl (Table)

Question ID : 26433098394
Status : Answered
Chosen Option : 1

Q.5 Which of the following ISP provides access to Internet through telephone line. cable Wi-Fi or fiber optics?
Ans X 1. Hosting ISPs

+ 2. Access providers
X 3. Mailbox provider
X 4. Virtual ISPs

Question ID : 26433098427
Status : Answered
Chosen Option : 1

Q.6 THTH-TRET 2010 (MS-Excel 2010) Ber &, Hed H & J @ el I 1 I 4 & B0 &ew
# ¥ frE o #1 39geT frar ST 2

Ans x4 H-J
v 2 HJ
X3 H:J
x4 HJ

Question ID : 26433098421
Status : Answered
Chosen Option : 1

Q.7 The keyboard shortcut to paste special values in a worksheet in MS-Excel 2010, is
Ans 1. Ctrl + Alt + V then press V

X 2. Alt +V then press V
X 3. Ctrl + Shift + V then press V
X 4. Shift + V then press V

Question ID : 26433098362
Status : Answered
Chosen Option : 1
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Ans X 1. dF T3S (Web browser)
X 2. 3995 (Webpage)

X 3. FH S=1e7 (Search engine)
v 4 39 @R (Web server)

Question ID : 26433098418
Status : Answered
Chosen Option : 1

Q.9  cHrE-TEIE 2010 #, REEH H FEE I F R Fag oftwe F 39T G S
Ans X1 Ctrl + C

X2 Ctrl + V

X3 Ctrl + X

4 Ctrl + 2

Question ID : 26433098380
Status : Answered
Chosen Option : 4

Q10 The dollar sign ($) is used to make references  in MS-Excel 2010.
Ans 1. mixed column
X 2. mixed row

+ 3. absolute

X 4. relative

Question ID : 26433098375
Status : Answered
Chosen Option : 4
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